. Write a note on Awadh Kisan Sabha.

ey fFaM 99 W TH feovi fafem |

. Describe the causes of discontenment of the

Peasant of Telangana.

AT | HOH TS & HRON T T I |

. Identify the tribal revolts in India during
1818-1900.

1818-1900 §. & <NW &% WRa H enfearst fogel =t
Tga™ hifeld |

. Throw light on prominent features of Bakasht

Movement of Bihar.

foeR & wed ST<Ied ® wE favesi W g
SIfeq |

. Differentiate between permanent settlement and
Ryotwari System.

T SR 3R {qaTe] e H =R Hifey |

. What were the basic features of agrarian structure
under the British rule ?

STUST AR H TR FHA-HEA B Aol
AMYALTT &1 & ?
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - 7w g SR ‘F S Tt | fawifea 71 ue
TUe & MRUER yeH & SW S|

Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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foder .- =t Wl & W SN A ST W H TIAER
TH TS, UH a6 A1 Siehad 30 vl A uREifhd

1.
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@

(i1)

(iii)

(iv)

v)

(vi)

QuS—31
(atfa &g 3T we)

HIT | JAF G 2 3T HT &
Who were the prominent leader of Indigo
Movement, 1859-60 ?

i fosie (1859-60) & ¥H@ a1 & 9 2
Kheda is located in which Area ?

Trel fore & 4 fem € 2

Who founded the Awadh Kisan Sabha ?
sray feam 9w w1 wora fRes i 2

What was the basic demand of Tebhaga
Movement ?

THFT STRIeH & W@ AN 31 ot ?
What do you mean by Samp Sabha ?
U [ F AT F TS & ?

What was Brumfield-Maxwell investigating

committee ?

JIRICe-Haeae S 9t s off 2

(vii) What was EKI Movement ?
Teh! AT 1 a1 ?
(viil) What was ‘Sunset Clause’ ?
‘gt | o ?
Section-B 4x16=64
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
gug—d
(g 3T Uv)
e :- <l wR gl & W SfNT e oW W H
AfereRae 200 gl H 9fEfgd wifsw) gds 99
16 i *1 |

2. Identify major merits-demerits of Ryotwari

settlement.
TS AT H YHE -GS 1 UgEH it |

3. Discuss the circumstances that led to the Peasant

Movement of Champaran, 1917.

1917 & =R fREm sT<IeH &1 aRfeafadt &1 faa=m
HIfST |

MAHI-13 / 1210 / 4 (3) 443 Turn Over



